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(1.800.36)00.26

>
> Hehl 2005

(1.800.36) = (1.8 + 0.36) + (0.36 + 1.8) = 5 4+ 0.2 = 5.2
(5.200.26) = (5.2 + 0.26) + (0.26 + 5.2) = 20 + 0.05 = 20.05




o] BRAE 58.2kg AUttt 7] BRAE 2o BFA9] 1.2 Hjo]
, 2o BRAL yo] B 0] 125 vt g} B BRAL
2 kg AY7H?

g R

b

B kg

>
[> ®Ef 388kg

A 1 58.2+1.2 = 48.5(kg)
A 1 48.5+1.25 = 38.8(kg)




S 57 FIES G WA AFgSte] Fol b 2 47k ek (24
£ Ak )+ (A5 A 5) 9 el o] 1 58 FohA,

[N}
(o))
—
S
Ut

\VARR 4
0
i

5.45

Fo] A7) SA hirol A 47k ADSF e
252 o] AW, Fold 27 FFER WE 4 9k AP
I 2 £ A 40k Vg AL a4 2e] 2 W5 654

9} 1.2 4yt
webA] 6.54 = 1.2 = 5.45 QU T}




